/DIIRB
3UDFRZQLN 5RINiDG  GU 1RZIN =DICF $QQD 7\J

F]ZDUWHN

7\J 7\J
%LRIHFKQRIRJID GU 1RZIN %LRIHFKQRIRJILD GU 1RZIN =DigF $QQD
~ =DigF $QQD $% % w/ =Dl
T %/ -DU ‘ ‘
=
= 7\G]
Q %LRIHFKQRIRJID GU 1RZIN =DiaF $QQD $% w/ 7/
g 7\
n 3UDFRZQLD G\SIRPRZD GU %HUGRZVND $JQIHVIND 7\J GU
KDE SURI 8- =DZIHUXFKD ,ZRQD 7\J GU ODIFKU]DN %DUEDUD
7\G]  GU 1RZIN =DigF $QQD 7\J =DICFDRQUQH . /
0.7/
7\6] 7\6] 7\6]
%LRIHFKQRIRJLD GU 1RZIN %LRIHFKQRIRJILD GU 1RZIN =DiaF $QQD %LRIHFKQRIRJILD GU 1RZIN =DiaF $QQD =DICFLD RQ
=DigF $QQD $% % %/ 7/ WH %/ 7
AN
; %RIHFKQRIRIID GU 1RZIN =DigF $QQD $% %/ 7/
7N 7N 7\G]

%RIHFKQRIRJILD GU 1RZIN

Y%LRIHFKQRIRJLD GU 1RZIN Y%LRIHFKQRIRJLD GU 1RZIN =DigF $QQD =DICFLD RQ

=DigF $QQD =DICFLD RQ =DigF $QQD =DICFLD RQ WH %/ 7/
WQH %/ 7 0WQH %/ =DU ‘
7\ 7\

%RIHFKQRIRJLD GU 1RZIN =DigF $QQD
=DICFLD RQ (LQH %/ 7/

%LRIHFKQRIRJLD GU 1RZIN =DigF $QQD
=DICFLD RQ 0LQH %/ -DU

% 7\G]

= %RIHFKQRIRILD GU 1RZIN
O =DlaF $QQD =DICFID RQ
n 1QH -DU

x

©




